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po 4261+ 0.0
p1 -37.37+ 0.00

TP delay [ns]

TVC(cbch) (0,7,4

- rnui 791e+04 [ 25
po 4277+ 0.0
pl -35.36+ 0.00

- C =
- o
TP delay [ns]
TVC(cbch) (O 7,8

© i, r30e+U5 / 25
4289+ 0.0
-36.5+ 0.0

1
50 00

TP delay [ns]

TVC(Cbch) (o, 7 12

-1 gEve+Us / 25
pO 4267+ 0.0
pl -34.34+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000 [,

3000

2000

1000

TVC(cbch) (0,7,1

A7 1 nuiz,190e+u4 [ 25
= po 4272+ 0.0
p1 -37.67 + 0.00

TP delay [ns]

TVC(c,b ch) (0 7,5

-1 1ug.499e+04 [ 25
- pO 4281+ 0.0
p1 -36.01% 0.00

50 150
TP delay [ns]

TVC(c,b ch) (0 7,9

<1 nui/140e+U5 / 25
po 4290+ 0.0
p1 -36.48 £ 0.00

TP delay [ns]

TVC(c,b Ch) (0, 7 13

T inun g/ze+U5 [ 25
pO 4288+ 0.0
pl -36.35+ 0.00

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

0

4000

3000

2000

TVC(cbch) (0,7,2)

A1z, zyse+u4d | 25
__— po 4296+ 0.0
L pl -37.96 + 0.00

3000

TP delay [ns]

TVC(cbch) (0,7,6

= rnuLUs/e+U5 / 25
- pO 4278+ 0.0
[ pl -35.24+ 0.00

TP delay [ns]

TVC(eb,oh)=(0, 7, 10

1 nuiz.294e+06 / 25
g po 4297+ 0.0
- pl -35.82+ 0.00

TP delay [ns]

TVC(Cbch) (o, 7 14

1000

T n.z3e+U5/ 25
— pD 4288+ 0.0
[ p1 -35.6+ 0.0

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,7,3

A~ 1 s, 19oe+u4 | 25
- po 4289+ 0.0
pL -36.97 + 0.00

TP delay [ns]

TVC(c,b ch) (0 7,7

- 11U 4p0e+U5 / 25
e, pO 4269+ 0.0
p1 -34.59+ 0.00

TP delay [ns]

TVC(c,b ch) (0, 7

T, 44/e+u6/25
pO 4301+ 0.0
pl -36.68 + 0.00

TP delay [ns]

TVC(c,b ch) (0, 7 15

<1 nai ogye+Us / 25
pO 4299+ 0.0
-35.95+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,8,0)

AL PAVE Vi)

po 4273+ 0.0
p1 -36.1% 0.0

TP delay [ns]

TVC(cbch) (0.8,4

- nuz 119e+04 / 25
& pO 4274 0.0
p1 -34.94 + 0.00

[ C =28.62 [ps/ch]

50 10‘0
TP delay [ns]

TVC(cbch) (O 8,8

T //e+u5/25
po 4292+ 0.0
pl -36.33+ 0.00

TP delay [ns]

TVC(cbch) (0,812

=i 5 45e+05 / 25
= pO 4306+ 0.0
pl -36.92 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,81

A” 1L yvbe+ud [ 25
Fee, po 4256 + 0.0
p1 -34.94+ 0.00

TP delay [ns]

TVC(c,b ch) (0 8,5

-1 nu 38Ye+u4 [ 25
- pO 4267+ 0.0
-34.35+ 0.00

[ C=29.11 [ps/ch]

50 1(;0
TP delay [ns]

TVC(c,b ch) (0 8,9

Tinury41e+u5 /25
e DO 4301+ 0.0
pl -35.71+ 0.00

1
50 100

TP delay [ns]

TVC(C, bch) (0,8,13

T nu,154e+U5 / 25
= pO 4317+ 0.0
p1 -36.9+ 0.0

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000

2000

4000

3000

2000

1000

0

1000

TVC(cbch) (0,8,2)

A7 1 nuz.uyse+ud / 25

__— po 4270+ 0.0
- pl -35.68+ 0.00

3000

TP delay [ns]

TVC(cbch) (0,86

117 o 5e+04 [ 25

- pO 4289+ 0.0
[ pl -35.61+ 0.00

TP delay [ns]

TVC(cbch) (0, 8 10

1N/ [e+U6 / 25

F pO 4325+ 00
L pl -36.71+ 0.00

TP delay [ns]

TVC(cbch) (0,814

1 nun p.UBe+US [ 25

— pD 4315+ 0.0
L pl -37.27+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,8,3)

po 4289+ 0.0
p1 -36.1% 0.0

AT 1 nus.usoe+u4 [ 25

TP delay [ns]

TVC(c,b ch) (0 8,7

pO 4292+ 0.0
p1 -35.42:+ 0.00

- 1nubb/e+us / 25

TP delay [ns]

TVC(c,b ch) (0, 8

po 4316+ 0.0
pL -36.43 + 0.00

1, 1‘Jbe+U6 125

TP delay [ns]

TVC(C, bch) (0,815

- po 4304+ 0.0
p1 -36.27 + 0.00

1 nurs, s13e+U5 / 25

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,9,0)

X~ 1 o5 re+U4 /25
po 4240+ 0.0
p1 -35.54+ 0.00

TP delay [ns]

TVC(cbch) (0,9,4

= iU BUbe+u4 / 25
po 4238+ 0.0
pl -35.38+ 0.00

- C =
- o
TP delay [ns]
TVC(cbch) (O 9,8

T nuiL$11e+u5 / 25
pO 4269+ 0.0
pl -35.33+ 0.00

TP delay [ns]

TVC(cbch) (0,9,12

~ 1 up.urse+Us / 25
po 4269+ 0.0
pl -35.12+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,9,1)

AT 1 nuzuLbe+u4 / 25
po 4235+ 0.0
p1 -34.88 + 0.00

TP delay [ns]

TVC(c,b ch) (0 9,5

=1 nui Yyve+u4 / 25
pO 4255+ 0.0
pL -35.26+ 0.00

TP delay [ns]

TVC(c,b ch) (0 9,9

T nuy, 752e+U5 / 25
po 4256+ 0.0
pl -35.03 + 0.00

TP delay [ns]

TVC(c,b Ch) (0, 9 13

Tinug B13e+us [ 25
- pO 4245+ 0.0
p1 -34.26 + 0.00

TP delay [ns]

4000

3000
2000

1000

4000
3000
2000

1000

4000
3000
2000

1000

0

4000

3000
2000

1000

TVC(cbch) (0,9,2)

X~ 1wz z1ie+u4 [ 25
po 4258+ 0.0
p1 362+ 0.0

TP delay [ns]

TVC(cbch) (0,9,6

Ty, (z4e+04 | 25
4254+ 0.0
-35.6+ 0.0

10‘0
TP delay [ns]

TVC(eb,oh)=(0, 9, 10

Tl //e+U6/25
po 4291+ 0.0
pl -35.65+ 0.00

1
100

TP delay [ns]

TVC(Cbch) (o, 9 14

T g.82e+05/ 25
pD 4255+ 0.0
pl -33.95+ 0.00

PR
100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,9,3)

A~ 1 nuig.50ze+U4 [ 25
po 4256+ 0.0
pL -35.42:+ 0.00

TVC(c,b ch) (0 9,7

1
100

TP delay [ns]

-1 nu 338e+U5 | 25
po 4269+ 0.0
p1 -36.53+ 0.00

TVC(c,b ch) (0, 9

TP delay [ns]

AL dbie+l}6/25
po 4286+ 0.0
pl -36.32+ 0.00

1
100

TP delay [ns]

TVC(c,b ch) (0, 9 15

T na g roe+U5 / 25
pO 4269+ 0.0
p1 -34.68 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(CbCh) (o, 10 0)

AL (<S+Um‘
P pO 4263+ 0.0
pL -34.1% 0.0
[C=29.33[ps/ch] %, ]
1 L -
50 100
TP delay [ns]
TVC(c,b ch) (0, 10 4)
T nu 182e+04 / 25
= pO 4284+ 0.0
pl -36.52 ::‘
e -
1 L -
50 100
TP delay [ns]
TVC(c,b, ch) (0, 10 8

T g.32e+04 /25
4270+ 0.0
-35.2+ 0.0

TP delay

TVC(Cbch) (o, 10 12

[ns]

~ 1y yoze+U5 / 25
4311+ 0.0
pl -36.47 + 0.00

P R |
50 100

TP delay

[ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(chh) (0,10,1)

- po

p1

AT 1nuiLz1e+u4 [ 25
4261+ 0.0
-34.26 + 0.00

[ C=29.19 [ps/ch]

1 1
50 100

TP delay

TVC(c,b Ch) (0, 10 5

F- pO

[ns]

T nan2.45e+04 1 25
4293+ 0.0
pl -37.23+ 0.00

TP delay

TVC(eb.oh)=(0, 10,9

[ns]

T nuiz.p/4e+U5 / 25
4287+ 0.0
-36.4 + 0.0

1
50 00

TP delay

TVC(c,b ch) (0, 10 13

[ns]

T inuEs/e+u5 [ 25
4305+ 0.0
p1 -35.88+ 0.00

TP delay

[ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000
3000
2000

1000

0

4000
3000

2000

TVC(CbCh) (0,10,2)

- PO

pl

- C = 28.90 [ps/ch]

X~ 1 nuizuzoe+u4 [ 25
4270+ 0.0
-34.6 + 0.0

1
50 100

TP delay

TVC(Cbch) (o, 10 6

F= P°

[ns]

© 1 nu,184e+04 / 25
4292+ 0.0
pl -36.65 + 0.00

TP delay

TVC(cbch) (0, 10 10

[ns]

© 1L Zo3e+U6 / 25
4300+ 0.0
-36.4 + 0.0

TP delay

TVC(CbCh) (o, 10 14

1000

[ns]

T g, szze+05 / 25
4314+ 0.0
pl -36.74 + 0.00

TP delay

[ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (0,10,3)

po
pL

X1 223e+Ud ] 25
4285+ 0.0
-34.78+ 0.00

[ C =28.76 [ps/ch]

1 1
50 100

TP delay

TVC(c,b Ch) (0, 10 7

pO

[ns]

-1 U 830e+U5 / 25
4312+ 0.0
pl -37.04+ 0.00

TP delay

TVC(Cbch) (0, 10 11

pO

[ns]

T nuiLay/e+u6 / 25
4292+ 0.0
p1 -34.88 £ 0.00

TP delay

TVC(cbch) (0, 10 15

[ns]

T num, r52e+U5 / 25
4307+ 0.0
p1 -36.95+ 0.00

TP delay

[ns]



4000

3000

2000

1000

4000

TVC(CbCh) (0,11,0)

b po

AT inuig1/e+04 /25
4213+ 0.0
p1 34,58+ 0.00

TP delay

TVC(cbch) (0,11,4

[ns]

T i /4/e+04 [ 25
4219+ 0.0
-33.98 + 0.00

[y po
p1
3000 - 7
2000~ T
wor C =29.43 [ps/ch] ™, ]
% i
TP delay [ns]
TVC(c,b, ch) (0, 11 8) —
T nug, (usbe+U4 5
A0, po 4240:‘
-34.59 + 0.00
3000 - N
2000 |- N
10r C =28.91 [ps/ch] ™, 7]
4 % i
TP delay [ns]

4000 =

3000

2000

1000

TVC(cbch) (0,11, 12

X~ 11w 551e+U5 / 25
po 4261+ 0.0
pl -35.47 + 0.00

TP delay

PR RS SR B
50 100

[ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000 E,

3000

2000

1000

4000 E,

3000

2000

1000

TVC(Cbch) (0,11,1)

e, po

AT rnuz1z/e+u4 [ 25
4217+ 0.0
p1 -35.14+ 0.00

TP delay

TVC(cbch) (0,11,5

[ns]

-1 nu zbae+u4 [ 25
4246+ 0.0
pl -34.78 + 0.00

TP delay

TVC(eh.eh)=(0, 11, 9

po

[ns]

1 nuw.goYe+Us / 25
4255+ 0.0
p1 -34.49 + 0.00

TP delay

TVC(cbch) (0,11,13

pO

[ns]

)

Tonan 382e+05/ 25
4256+ 0.0
pl -35.32+ 0.00

TP delay

[ns]

4000

3000
2000

1000

4000

3000

2000

1000

4000 [,
3000
2000

1000

4000 =
3000
2000

1000

TVC(CbCh) (0,11, 2)

=, PO

K™ 1 nuzuyse+ud / 25
4231+ 0.0
pl -35.03+ 0.00

TP delay

TVC(cbch) (0,11,6

= PO

[ns]

T U 33/e+04 [ 25
4268+ 0.0
pl -35.85+ 0.00

TP delay

TVC(cbch) (0, 11 10

pO

[ns]

T w1 gze+u6 /25
4237+ 0.0
pl -33.99+ 0.00

TP delay

TVC(cbch) (0,11, 14

[ns]

K™ 1nuis.ru/e+U5/25
po 4268+ 0.0
pl -35.89+ 0.00

TP delay

PR SR T
50 100

[ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (o, 11 3)

e pO

T p.sse+ud [ 25
4239+ 0.0
p1 -34.93+ 0.00

TP delay

TVC(cbch) (0,11,7

pO
pl

[ns]

-1 nui /31e+U5/ 25
4247+ 0.0
-34.06 + 0.00

TP delay

TVC(e.b.eh=(0, 11, 11

pO

[ns]

<1 nuiL ogYe+u6 / 25
4256+ 0.0
p1 -34.95+ 0.00

TP delay

TVC(c, bch) (0,11,15

[ns]

)

Tinann4e+05/ 25
4259+ 0.0
p1 -34.64 + 0.00

TP delay

[ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000 [,

3000

2000

1000

TVC(CbCh) (o, 12 0)

T, ruze+u4 [ 25
- pO 4265+ 0.0
pl -35.33+ 0.00

TP delay [ns]

TVC(cbch) (0,124

-1z 308e+04 / 25
4277+ 0.0
-37.7+ 0.0

50 10‘0
TP delay [ns]

TVC(cbch) (0, 12 8

T nuy, 1zoe+u4 | 25
= po 4260+ 0.0
pl -36.58 + 0.00

TP delay [ns]

TVC(cbch) (0,12,12

T rnun.gye+U5 / 25
pO 4268+ 0.0
pl -35.44+ 0.00

PR RS SR B
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(chh) (0,12,1)

AT 1z aoe+ud [ 25
Fee, po 4277+ 0.0
pl -37.61+ 0.00

TP delay [ns]

TVC(cbch) (0,125

“rnubhe+u4 [ 25
e pO 4268+ 0.0
pL -37.15+ 0.00

TP delay [ns]

TVC(ebeh)=(0, 12,9

T nuw, /bze+U5 / 25
- po 4272+ 0.0
p1 -36.44 + 0.00

TP delay [ns]

TVC(cbch) (012,13

T nup.1/0e+U5 / 25
frvase pO 4271+ 0.0
pl -35.94+ 0.00

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

0

4000 [,
3000
2000

1000

TVC(CbCh) (0,12,2)

K71 nuig zove+U4 [ 25
_- po 4272+ 0.0
L pl -36.36 + 0.00

3000

TP delay [ns]

TVC(cbch) (0.12,6

-1 Uy, 399e+04 / 25
e pO 4269+ 0.0
[ pl -36.82+ 0.00

TP delay [ns]

TVC(cbch) (0, 12 10

1 nuiL409e+U6 / 25
e po 4282+ 0.0
3 pl -36.14 + 0.00

TP delay [ns]

TVC(cbch) (0.12,14

T nun.pyle+Us / 25
pD 4277+ 0.0
-35.57 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (0,12,3)

AT 1z bvye+ud [ 25
- po 4296 + 0.0
pl -36.85+ 0.00

TP delay [ns]

TVC(c, bch) (0,12,7

- nu 33ze+04 / 25
e, pO 4301% 0.0
pL -37.17+ 0.00

TP delay [ns]

TVC(eb.eh)=(0, 12, 11

T nuiLygle+u6 / 25
po 4292+ 0.0
pl -36.33+ 0.00

TP delay [ns]

TVC(cbch) (0,12,15

Tinany.s3e+U5 /25
4275+ 0.0
-36.01+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

19F C = 29.16 [ps/ch] »._ 7
0 5;) 10'0 -

4000

3000

2000

1000

TVC(CbCh) (o, 13 0)

© 1 nuzpsve+u4 [ 25
= pO 4274+ 0.0
-35.91+ 0.00

1
50 100

TP delay [ns]

TVC(Cbch) (o, 13 4

i 7oe+ua [ 25
=5 po 4292+ 0.0
pl -36.91+ 0.00

50 10'0
TP delay [ns]

TVC(eb,oh)=(0, 13,8

©1nug, r39e+U5 / 25
- po 4310+ 0.0
-34.29 + 0.00

TP delay [ns]

TVC(Cbch) (o, 13 12

T L3y re+U6 / 25
= po 4293+ 0.0
pl -34.22+ 0.00

[ C =29.22 [ps/ch]

L n n n n 1
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(chh) (0,13,1)

AT 1 nuzooze+u4 [ 25
= po 4273+ 0.0
p1 -36.84 + 0.00

TP delay [ns]

TVC(c,b Ch) (0, 13 5

=/ nui ulbe+us / 25
- pO 4294+ 0.0
p1 -36.94 + 0.00

50 150
TP delay [ns]

TVC(eb.oh)=(0, 13,9

T nuiLy/3e+u6 / 25
- po 4326+ 0.0
p1 -34.19.+ 0.00

[ C =29.24 [ps/ch] . ]

1
50 00

TP delay [ns]

TVC(c,b ch) (0, 13 13

1 nuiL 3ube+u6 / 25
- pO 4296+ 0.0
p1 -35.55+ 0.00

TP delay [ns]

TVC(CbCh) (0,13,2)

4000 [ po

3000
2000

1000

A~ nus 448e+04 | 25
4275+ 0.0
p1 -35.44 £ 0.00

TP delay

TVC(Cbch) (o, 13 6

4000 e

pD
pl

[ns]

- 11Uy Base+U5 / 25
4311+ 0.0
-37.04 + 0.00

3000~

2000~

1000:— C=27.00 [pS/Ch

TP delay

TVC(eb,ch)=(0, 13,10

4000 DO

pl

[ns]

T a0y e+U6 / 25
4340+ 0.0
-34.38 + 0.00

3000 |~

2000~

ol © = 29.08 [ps/ch] ™.

1
0 50 100

TP delay

TVC(CbCh) (o, 13 14

pD
pl

4000 [

[ns]

~1nuiLoze+U6 / 25
4293+ 0.0
-34.84 + 0.00

3000~

2000 [~

w0l C = 28.70 [ps/ch]

PR R R S R |
50 100

TP delay

[ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (0,13,3)

e po

A 1nuz4e+U5/ 25
4294+ 0.0
p1 -37.09 + 0.00

TP delay

TVC(c,b Ch) (0, 13 7

pO
pl

[ns]

-1y b3ze+U5 / 25
4300+ 0.0
-36.36 + 0.00

TP delay

TVC(Cbch) (0, 13 11

pO

[ns]

T nuigan1e+U6 / 25
4339+ 0.0
pl -35.37 + 0.00

TP delay

TVC(cbch) (0, 13 15

[ns]

1 nui oyze+U6 / 25
4313+ 0.0
p1 -36.33+ 0.00

TP delay

[ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000 [,

3000

2000

1000

TVC(CbCh) (o, 14 0)

b po

T L gse+ud /25
4240+ 0.0
p1 -36.43 + 0.00

TP delay [ns]

TVC(Cbch) (o, 14 4

- 1nuz14ze+04 / 25
e, pO 4258+ 0.0
p1 -34.64+ 0.00

[ C =28.87 [ps/ch]
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p1 -35.93+ 0.00

- C =
- o
TP delay [ns]
TVC(cbch) (1 5,8

- Sazerua /25
pD 4203+ 0.0
p1 -36.31 0.00

TP delay [ns]

TVC(cbch) (1,512

~ i, rove+U5 / 25
4304+ 0.0
-35.8+ 0.0
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po 4252+ 0.0
p1 -35.37 + 0.00
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“nuZ1e+u4 /25
pO 4282+ 0.0
pL -36.01% 0.00
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TP delay [ns]

TVC(c,b ch) (1 59

-1 nuw,pzye+U5 / 25
pO 4309+ 0.0
-36+ 0.0
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TP delay [ns]
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~ 1 nuiz 150e+U5 / 25
pO 4299+ 0.0
p1 -35.65+ 0.00
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TVC(cbch) (1,556

-1 nuz.498e+04 | 25
pO 4300 0.0
p1 -36.65 + 0.00

TP delay [ns]
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© 1L plze+U6 / 25
po 4317+ 0.0
pl -36.63 + 0.00
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T go1e+U5 / 25
pD 4298+ 0.0
pl -35.37 + 0.00
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= 1 nu Zose+ud | 25
po 4298+ 0.0
pl -35.48 + 0.00
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TP delay [ns]

T saue+u6/25
po 4326+ 0.0
pl -36.63 + 0.00
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1 nuiz.a44e+05/ 25
pO 4308+ 0.0
p1 -35.46 + 0.00
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4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,6,0)

X~ 1z uLse+u4 [ 25
po 4252+ 0.0
p1 -37.05+ 0.00

TP delay [ns]

TVC(cbch) (16,4
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po 4279+ 0.0
pl -36.71+ 0.00
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= pD 4276:‘
pL -34.77 + 0.00
- C=28.76 [ps/ch] \_ 1]
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po 4284+ 0.0
pl -37.14+ 0.00
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-1 nuiz.a49e+04 | 25
po 4275+ 0.0
pl -36.15+ 0.00
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1 nuiz.y4ae+us [ 25
pO 4292+ 0.0
p1 -35.11+ 0.00
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pO 4282+ 0.0
p1 -36.32+ 0.00
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pD 4275+ 0.0
pl -35.95+ 0.00
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- pO 4274+ 0.0
p1 -35.05+ 0.00
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T u4be+u6/25
pO 4289+ 0.0
p1 -34.43+ 0.00

TP delay [ns]
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71 nuiz.yyoe+U5 / 25
pO 4265+ 0.0
-36.03+ 0.00
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pl -36.74 + 0.00
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- po 4275+ 0.0
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TP delay [ns]

TVC(cbch) (1,7,12

T g1y /e+U5 /25
4277+ 0.0
-35.3+ 0.0
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4253+ 0.0
-36.5 % 0.0
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TP delay [ns]

TVCEebeh)=(1,7,9
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4271+ 0.0
-35.6 + 0.0
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TP delay [ns]

TVC(c,b Ch) (1, 7 13

Tinunore+u5 /25
pO 4283+ 0.0
p1 -36.25+ 0.00
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e, po 4284+ 0.0
L pl -36.71% 0.00
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po 4272+ 0.0
p1 -35.64 + 0.00
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pD 4276+ 0.0
-35.32:+ 0.00
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T nuiz p3ze+U5 / 25
pO 4283+ 0.0
p1 -35.5+ 0.0

TP delay [ns]
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p1 -35.95+ 0.00

TP delay [ns]

TVC(cbch) (1,84

T zzze+u4 | 25
e, pO 4274+ 0.0
p1 -37.77+ 0.00

TP delay [ns]

TVC(cbch) (1 8,8

©rnuig.bg4e+U4 | 25
4262+ 0.0
-36.5+ 0.0

1
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TVC(cbch) (1,812

-1z pove+Us / 25
pO 4292+ 0.0
pl -36.36 + 0.00
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TVC(c,b ch) (1 8,9

-1 nu.29e+U5 / 25
po 4279+ 0.0
pl -35.96 + 0.00
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pO 4272+ 0.0
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TP delay [ns]

TVC(cbch) (1,86

T rnun4.82e+04 [ 25
pO 4266+ 0.0
pl -36.97 + 0.00

TP delay [ns]

TVC(eb,oh)=(1, 8, 10

© 1 nuiL4p1e+U6 / 25
po 4286+ 0.0
pl -35.83+ 0.00

TP delay [ns]
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T g zzse+U5 [ 25
pD 4290+ 0.0
pl -36.88 + 0.00
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= rnui 141e+05 / 25
= po 4266+ 0.0
pl -37.04+ 0.00

50 160
TP delay [ns]

TVC(c,b ch) (1, 8

T 54Me+u6/25
pO 4280+ 0.0
-35.79 + 0.00

TP delay [ns]

TVC(c,b ch) (1, 8 15

T nui, 7 14e+U5/ 25
pO 4288+ 0.0
-35.66 + 0.00

TP delay [ns]
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TVC(cbch) (1,9,0

A~ 1 nui rsse+u4 [ 25
e po 4253+ 0.0
p1 -36.07 + 0.00

TP delay [ns]

TVC(cbch) (1,94

- iU g43e+u4 [ 25
== po 4268+ 0.0
pl -36.22 + 0.00

50 10'0
TP delay [ns]

TVC(cbch) (1 9,8

T4l e+u4 /25
= pO 4236+ 0.0
-33.89+ 0.00

[ C =29.51 [ps/ch]
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TVC(cbch) (1,91

A7 1 nuiLyuse+u4 / 25
- po 4264+ 0.0
p1 -35.79+ 0.00

TP delay [ns]

TVC(c,b ch) (1, 9

“1nug 14ze+04 [ 25
- pO 4283+ 0.0
pL -36.67+ 0.00

TP delay [ns]

TVC(c,b ch) (1 9,9

T naiyU1se+us / 25
pO 4260+ 0.0
p1 -34.49 + 0.00

TP delay [ns]

TVC(c,b Ch) (1, 9 13

TinuiLyrze+u5/ 25
pO 4245+ 0.0
p1 -34.03+ 0.00
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1000
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[ pO 4260+ 0.0
[ p1 -36.19+ 0.00

3000

T 1nu,bape+ud | 25
- pO 4289+ 0.0
[ p1 -36.89+ 0.00

50 10'0
TP delay [ns]

TVC(eb,oh)=(1, 9, 10

Ty e+U5 /25
F po 4276+ 0.0
o pl -35.37 + 0.00

TP delay [ns]

TVC(cbch) (1,914

1000

Tz, r03e+U5 / 25
frees, pD 4252+ 0.0
[ p1 -35.18+ 0.00
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i Lsverud | 25
B pO 4296+ 0.0
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TP delay [ns]
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=1 nur 1 Ube+Us / 25
= po 4289+ 0.0
p1 -35.93+ 0.00

TP delay [ns]

TVC(c,b ch) (1, 9

Sy ::4e+u6/25
pO 4263+ 0.0
pl -33.87 + 0.00

TP delay [ns]

TVC(c,b ch) (1, 9 15

71 nuigbyze+U5 / 25
pO 4258+ 0.0
p1 -34.12 + 0.00

TP delay [ns]
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- 1L, r4ae+04 [ 25
- pO 42411 0.0
344+ 0.0

[ C =29.07 [ps/ch]

50 10'0
TP delay [ns]

TVC(cbch) (1,10,8

T L1z /e+U5 /25
= pO 4287+ 0.0
pl -37.16 + 0.00

TP delay [ns]

TVC(c,b ch) (1, 10 12

© 1z, (49e+05 / 25
= 4273+ 0.0
-33.77+ 0.00

[ C=29.61[ps/ch] ¥ 1
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e pO 4242+ 0.0
pl -35.07 + 0.00

TP delay [ns]

TVC(ebeh)=( 1, 10,9

Tinunp.34e+U5 / 25
pO 4284+ 0.0
p1 -35.78+ 0.00
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TP delay [ns]

TVC(c,b ch) (1, 10 13
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= pO 4278+ 0.0
p1 -32.86+ 0.00
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- rnugzz9e+04 [ 25
4262+ 0.0
-35.3+ 0.0

TP delay [ns]

TVC(cbch) (1, 10 10

-2 (4e+U6 | 25
= pO 4297+ 0.0
[ p1 -36.19+ 0.00
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TVC(c,b Ch) (1, 10 14

- 1L yove+Us / 25
F pD 4280+ 0.0
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p1 -37.92+ 0.00
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TVC(c,b ch) (1, 10 15
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Froees, po 4262+ 0.0
p1 -33.56 + 0.00
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- C N
1 1 -
50 100
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TVC(c,b, ch) (1, 11 8)
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e po 4284+ 0.0
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TVC(Cbch) (2, 15 4

-1 nunL19ze+06 / 25
- pO 4247+ 0.0
p1 -35.52:+ 0.00
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TP delay [ns]

TVC(cbch) (2,15,8

T 1L, 145e+06 / 25
- po 4269+ 0.0
pl -36.53 + 0.00

TP delay [ns]

TVC(Cbch) (2, 15 12

~ g, zove+Us / 25
po 4269+ 0.0
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TVC(c,b Ch) (2, 15 5

=1 nuiLuY1e+u6 / 25
= 4241+ 0.0
-34.58 + 0.00

[ C =28.92 [ps/ch] 7]
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T nuiL4z3e+U6 / 25
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p1 -35.84 £ 0.00
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pO 4260+ 0.0
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© 1o gloe+u4 | 25
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©1nug,155e+U6 / 25
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= po 4266+ 0.0
p1 -35.93+ 0.00
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TVC(ehch)=(2, 15, 11

T inuiLl/4e+U6 / 25
pO 4282+ 0.0
p1 -35.25+ 0.00
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p1 -33.05 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

wof C = 29.52 [ps/ch] ™, 7
0 5;) 10'0 :

4000

3000

2000

1000

TVC(cbch) (3,0,0

K- 1 nug Orse+ud | 25
= po 4264+ 0.0
p1 -37.97+ 0.00

TP delay [ns]

TVC(cbch) (3,0,4
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_ -1 Sove+ud 1 25
e pD 42213 0.0
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- pO 4266+ 0.0
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p1 -34.48 + 0.00

[ C=29.00 [ps/ch]

1
50 00

TP delay [ns]

TVC(c,b ch) (3, O 15

T nuis y3ye+us / 25
=3 4266+ 0.0
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T rze+ud /25
4259+ 0.0
-35.3+ 0.0

TP delay [ns]

TVC(cbch) (66,6

= P°

p1

Tz 1y/e+u4 [ 25
4252+ 0.0
-35.31+ 0.00

TP delay [ns]

TVC(cbch) (6, 6 10

1000

- o

1 nu,8UBe+US / 25
4309+ 0.0
-35.67 + 0.00

pl

TP delay [ns]

TVC(cbch) (6,614

~ 1 go4e+U5 / 25
4277+ 0.0
-35.26 + 0.00
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TVC(c,b ch) (6,6,
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nuiL, (o3e+u4 / 25
4272+ 0.0
-35.25+ 0.00

TVC(c,b ch) (6 6,7

-

Fe=. pO
pl

1
100

TP delay [ns]

nuB.04be+u4 / 25
4265+ 0.0
-35.75+ 0.00

1
100

TP delay [ns]

TVC(c,b ch) (6, 6

T, uuue+u5/25
4302+ 0.0
-34.86 + 0.00

[ C =28.69 [ps/ch] §

p1

1
100

50
TP delay [ns]
TVC(c,b ch) (6, 6 15)
S nun 2z 1ge+u5 /25
P, pO 4290+ 0.0
-35.9+ 0.0

TP delay [ns]
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TVC(cbch) (6,7,0

A~ 1 nui ggoe+u4 25
= po 4243+ 0.0
p1 -35.29+ 0.00

TP delay [ns]

TVC(cbch) (67,4

w3 re+ud [ 25
== po 4255+ 0.0
pl -34.58 + 0.00

[ C =28.92 [ps/ch]

50 10'0
TP delay [ns]

TVC(cbch) (6 7,8

-1, izoe+0d 1 25
- po 4265+ 0.0
p1 -35.81+ 0.00

TP delay [ns]

TVC(cbch) (6,7,12

~nuzgoze+U5 / 25
= po 4307+ 0.0
pl -36.15+ 0.00
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TVC(cbch) (6,7,1

AT 1 nuz,139e+U4 [ 25
= po 4269+ 0.0
p1 -36.51+ 0.00

TP delay [ns]

TVC(c,b ch) (6 7,5

“nuZge+ud [ 25
- pO 4267+ 0.0
pL -35.15+ 0.00

TP delay [ns]

TVC(c,b ch) (6 7,9

T inun 5 15e+U5 / 25
= po 4278+ 0.0
p1 -36.15+ 0.00

TP delay [ns]

TVC(c,b Ch) (6, 7 13

Tinuigzle+u5/ 25
= pO 4303+ 0.0
p1 -36.95+ 0.00
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F-. po 4274+ 0.0
[ p1 -36.07 £ 0.00
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TP delay [ns]

TVC(cbch) (67,6

Tz yle+u4 /25
fo, pO 4274+ 0.0
- pl -34.86 + 0.00

- C = 28.69 [ps/ch]

50 10'0
TP delay [ns]

TVC(eb,ch)=(6, 7, 10

1 nuiL488e+U6 / 25
4296+ 0.0
-36.7 + 0.0

TP delay [ns]

TVC(cbch) (6,7,14

1z, go4e+05 / 25
- pD 4306+ 0.0
L pl -36.26 + 0.00
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A~ nuiz32ze+04 [ 25
e po 4272+ 0.0
pL -35.36+ 0.00

TP delay [ns]

TVC(c,b ch) (6 7,7

= 1 nug Oyse+ud | 25
= po 4272+ 0.0
pl -34.35+ 0.00

[ C=29.11 [ps/ch]

50 160
TP delay [ns]

TVC(c,b ch) (6, 7

T 591e+u6/25
4307 £ 0.0
-37.1+ 0.0

1
50 00

TP delay [ns]

TVC(c,b ch) (6, 7 15

T inuig s14e+U5 / 25
= pO 4314+ 0.0
p1 -36.46 + 0.00

TP delay [ns]
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1°F C = 28.65 [ps/ch]™, 7
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TVC(cbch) (6,8,0

A~ 1 nui gsae+ud [ 25
= po 4239+ 0.0
p1 -34.77+ 0.00

TP delay [ns]

TVC(cbch) (68,4

- rnuiz.502e+04 [ 25
P po 4331+ 0.0
pl -38.74 + 0.00

TP delay [ns]

TVC(cbch) (6 8,8

< Zureud ] 25
e, pO 4268+ 0.0
p1 -34.9+ 0.0

TP delay [ns]

TVC(Cbch) (6, 8 12

- 25ae+05 / 25
= po 4273+ 0.0
p1 -35.58 + 0.00
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= po 4236+ 0.0
p1 -34.62+ 0.00

[ C =28.88 [ps/ch]

1 1
50 100

TP delay [ns]

TVC(c,b ch) (6 8,5

- 1 nu 0age+ud | 25
e po 4312+ 0.0
pl -37.54 % 0.00

TP delay [ns]

TVC(c,b ch) (6 8,9

T nuiL1/Ye+U5 / 25
= pO 4273+ 0.0
-34.38 + 0.00

[ C =29.09 [ps/ch]

1
50 00

TP delay [ns]

TVC(c,b Ch) (6, 8 13

T nuioole+u5 /25
- pO 4287+ 0.0
p1 -35.93+ 0.00
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p1 -34.89+ 0.00

TP delay [ns]

TVC(cbch) (68,6

©1nug,3v4e+04 / 25
pO 4324+ 0.0
pl -38.02 + 0.00

TP delay [ns]

TVC(eb,ch)=(6, 8, 10

- C = 28.62 [ps/ch]

T nuiLUS/e+U6 / 25
po 4298+ 0.0
p1 -34.94 + 0.00

1
50 100

TP delay [ns]

TVC(cbch) (6,814

T go1e+U5 / 25
4273+ 0.0
-34.51+ 0.00

- C = 28.98 [ps/ch]
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po 4265 0.0
pL -35.61+ 0.00

TP delay [ns]

TVC(c,b ch) (6 8,7

Crnan ruse+u4 | 25
pO 4341+ 0.0
p1 -37.75+ 0.00

TVC(c,b ch) (6, 8

TP delay [ns]

[ C =28.84 [ps/ch] ]

RIS zuse+u6/25
4302+ 0.0
-34.68 + 0.00

1
50 00

TP delay [ns]

TVC(c,b ch) (6, 8 15

T onanz,uze+us /25
4281+ 0.0
-34.93+ 0.00

[ C =28.63 [ps/ch] ]
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A~ 1 iz Uooe+ud | 25
e po 4272+ 0.0
p1 -36.47 £ 0.00

TP delay [ns]

TVC(cbch) (69,4

- iU 240e+04 [ 25
e, po 4293+ 0.0
pl -35.06 + 0.00

TP delay [ns]

TVC(Cbch) (6, 9 12

T gp1e+U5/25
= po 4286+ 0.0
pl -33.88+ 0.00

[ C =29.51[ps/ch] ™.
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AT 1 nuiz.Zsoe+ud | 25
- po 4276+ 0.0
p1 -35.67 + 0.00

TP delay [ns]

TVC(c,b ch) (6 9,5

-1 nu.484e+04 [ 25
- pO 4307+ 0.0
-35.7+ 0.0

TP delay [ns]

TVC(c,b ch) (6 9,9

<1 nuiz byve+us / 25
- pO 4286+ 0.0
-35.7+ 0.0
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50 00

TP delay [ns]

TVC(c,b Ch) (6, 9 13

T inu 333e+U5 / 25
Fome 4286+ 0.0
-35.08 + 0.00

[ C =28.51 [ps/ch] 7
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X~ 1 iz bose+u4 | 25
- po 4297+ 0.0
[ p1 -37.52+ 0.00

3000

-
1 1=

TP delay [ns]

TVC(cbch) (69,6

T b roe+ud [ 25
- pO 4315+ 0.0
r -35.61+ 0.00

3000

TP delay [ns]

TVC(eb,ch)=(6, 9, 10

~1nuy.pb e+U5 / 25
- po 4307+ 0.0
- pl -35.86 + 0.00

TP delay [ns]

TVC(c,b Ch) (6, 9 14

T zpoe+u5/ 25
-, pD 4301 0.0
L pl -36.42+ 0.00
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- po 4301+ 0.0
pL -37+ 0.0

TP delay [ns]

TVC(c,b ch) (6 9,7

= 1 nuw Ivoe+ud / 25
fe=s, po 4331+ 0.0
-36.6 + 0.0

TP delay [ns]

TVC(c,b ch) (6, 9

T b41e+u6/25
- pO 4314+ 0.0
-35.9 + 0.0

TP delay [ns]

TVC(c,b ch) (6, 9 15

T nan 2. 80e+U5 / 25
= pO 4310+ 0.0
p1 -36.37 + 0.00

TP delay [ns]
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pl

© L gove+u4 [ 25
4262+ 0.0
-35.56 + 0.00

TP delay [ns]

TVC(Cbch) (6, 10 4

= pO

-1z z09e+u4 / 25
4273+ 0.0
pl -36.66 + 0.00

1
50 00

TP delay [ns]

TVC(eb,ch)=(6, 10,8

- pD

T nuiz4rpe+04 [ 25
4278+ 0.0
pl -36.84 + 0.00

TP delay [ns]

TVC(c,b ch) (6, 10 12

- po
p1

T rnuizuLre+Us /25
4280+ 0.0
-35.21+ 0.00
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TVC(chh) (6,10,1)

e, po

A7 1 nuiLbove+u4 / 25
4265+ 0.0
-36.02+ 0.00

p1

TP delay [ns]

TVC(c,b Ch) (6, 10 5

F- pO

~1nu.4lze+u4 [ 25
4276+ 0.0
-36.16 + 0.00

TP delay [ns]

TVC(eb.oh)=(6, 10,9

e po

pl

-1 nug.pyve+Us / 25
4272+ 0.0
-35.74+ 0.00

TP delay [ns]

TVC(c,b ch) (6, 10 13

T inuiLp4/e+U5/ 25
4282+ 0.0
-35.25+ 0.00
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X~ 1z zz3e+04 [ 25
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p1 -36.21+ 0.00

TP delay

TVC(c,b ch) (6, 10 6

[ns]

-1z boye+ud / 25
4285+ 0.0
pl -36.74 + 0.00

- o
F C = 27.22 [psich .
n A
TP delay [ns]

TVC(e,b,ch)=(6, 10, 10

= "

©nuiLUs3e+U6 / 25
4296+ 0.0
pl -36.69 + 0.00

TP delay

TVC(c,b Ch) (6, 10 14

= P"

[ns]

~ 1L p4ze+Us / 25
4283+ 0.0
pl -35.24 + 0.00

TP delay

[ns]

TVC(Cbch) (6,10,3)

A1z zaye+ud | 25
4272+ 0.0
p1 -36.93 + 0.00

4000 [

po

3000
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1000

TP delay

TVC(c,b Ch) (6, 10 7

4000 e, PO

[ns]

<1 nub.499e+04 | 25
4288+ 0.0
p1 -36.26 + 0.00
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2000

w0r C = 27,58 [ps/ch

TP delay

TVC(Cbch) (6, 10 11

1 nuiL z98e+U6 / 25
4308+ 0.0
pl -36.82+ 0.00

4000 [ue.

pO

[ns]
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1000

TP delay

TVC(cbch) (6, 10 15

1 3.0

4000 [Gue.

[ns]

- ae+U5 | 25
4289+ 0.0
pL -35.46 + 0.00
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TVC(CbCh) (6,11,0)

A~ 1nuizauze+04 | 25
- po 4279+ 0.0
p1 -35.13+ 0.00

TP delay [ns]

TVC(cbch) (6, 11 4

- 1wz 135e+04 [ 25
== po 4239+ 0.0
pl -36.08 + 0.00

50 10'0
TP delay [ns]

TVC(cbch) (6, 11 8

- nuig 113e+u4 | 25
- pD 4286+ 0.0
p1 -35.76+ 0.00

TP delay [ns]

TVC(c,b Ch) (6,11, 12

X~ 1y 452e+05 / 25
- PO 4302+ 0.0
pl -34.76 + 0.00

I C =28.77 [ps/ch]

L n n n n 1
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AT 1 nuiz, gooe+u4d [ 25
- po 4277+ 0.0
p1 -34.38 + 0.00

[ C =29.09 [ps/ch]

1 1
50 100

TP delay [ns]

TVC(c,b Ch) (6, 11 5

=1 nui gobe+u4 [ 25
4257+ 0.0
-37.1+ 0.0

TP delay [ns]

TVC(c,b ch) (6, 11

T nui 343e+U5 / 25
4270+ 0.0
-34.31+ 0.00

[ C =29.14 [ps/ch] ]

1
50 00

TP delay [ns]

TVC(c,b ch) (6, 11 13

T nuiLyroe+us/ 25
- pO 4303+ 0.0
p1 -34.56 + 0.00

[ C =28.94 [ps/ch]

PR R SR |
50 100
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2000:— _:

b C = 28.47 [ps/ch™., 7
) 4 o
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TVC(CbCh) (6, 11 2)

TP delay [ns]

TVC(chh) (6, 11 6

T, rz3e+04 [ 25
- pO 4296+ 0.0
[ p1 -35.69 + 0.00

3000

T rnugzz3e+04 [ 25
- pO 4264+ 0.0
[ pl -36.83+ 0.00

TP delay [ns]

TVC(e,b.eh)=(6, 11, 10

T B.80e+U5 / 25
po 4295+ 0.0
p1 -35.13+ 0.00

TP delay [ns]

TVC(c,b Ch) (6,11, 14

X~ 1 iy zave+U5 / 25
- po 4320+ 0.0
[ pl -35.57 + 0.00
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X1z (1le+ud | 25
- po 4304+ 0.0
pL -36.62.+ 0.00

TP delay [ns]

TVC(CbCh) (6, 11 7

<1 nuy.4u5e+04 / 25
= po 4267+ 0.0
p1 -35.78 + 0.00

TP delay [ns]

TVC(Deh)=(6, 11, 11

~ 1 nuiL 189e+U6 / 25
- po 4297+ 0.0
pl -35.33+ 0.00

TP delay [ns]

TVC(c,b Ch) (6, 11 15)

Tonan g /1e+u5 /25
4318+ 0.0
-35.25+ 0.00

[ C =28.37 [ps/ch] ]

PR R SRR |
50 100

TP delay [ns]
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TVC(CbCh) (6, 12 0)

T rnuiLpr1e+u4 /25
= pO 4236+ 0.0
pl -34.4+ 0.0

[ C =29.07 [ps/ch]

1
50 100

TP delay [ns]

TVC(Cbch) (6, 12 4

- 1uz.445e+04 [ 25
=5 po 4292+ 0.0
pl -37.58 + 0.00

50 10'0
TP delay [ns]

TVC(eb,oh)=(6, 12,8

- 1 nuizsize+ud [ 25
e, po 4253+ 0.0
p1 -35.04 + 0.00

TP delay [ns]

TVC(c,b ch) (6, 12 12

i poze+U5 / 25
= po 4277+ 0.0
-34.58 + 0.00

I C =28.91 [ps/ch]

L n n n n 1
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TVC(chh) (6,12,1)

A1 nuiLadierud | 25
e, po 4246+ 0.0
pL -33.57+ 0.00

[ C=29.79 [ps/ch] ™_ 7]
L L

TP delay [ns]

TVC(c,b Ch) (6, 12 5

- 1nuz243e+04 [ 25
F po 4285+ 0.0
pL -36.78+ 0.00

TP delay [ns]

TVC(eb.oh)=(6, 12,9

T nuiLy4ie+us/ 25
==, 4275+ 0.0
-34.83 + 0.00

[ C =28.71 [ps/ch] ]

1
50 00

TP delay [ns]

TVC(c,b ch) (6, 12 13

TinuiL1s1e+U5/ 25
4275+ 0.0
-34.72+ 0.00

[ C =28.80 [ps/ch] 7

PR R SR |
50 100

TP delay [ns]

TVC(CbCh) (6,12,2)
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X~ 1L y3se+u4 [ 25
- po 4243% 0.0
[ p1 -33.58+ 0.00

FC=20.78 [psich] ™. 1
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50 100

TP delay [ns]
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- pO 4279+ 0.0
[ pl -36.77+ 0.00
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T nuy, r37e+U5 / 25
po 4285+ 0.0
p1 -34.56  0.00

- C = 28.94 [ps/ch]
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50 100
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TVC(c,b Ch) (6, 12 14
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-1, 1z4e+U05 | 25
pD 4284+ 0.0
pl -34.19 £ 0.00

- C = 29.24 [ps/ch] ™. 1

PR R R S R |
50 100
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TP delay [ns]

TVC(c,b Ch) (6, 12 7

=1 nug 20ve+ud | 25
= po 4318+ 0.0
p1 -38.15+ 0.00

50 100
TP delay [ns]

TVC(Cbch) (6, 12 11

T nuiL 162e+U6 / 25
- po 4308+ 0.0
p1 -35.76 £ 0.00

TP delay [ns]

TVC(cbch) (6, 12 15

T nuiz zsve+u5 [ 25
e pO 4259+ 0.0
-34.17 + 0.00

[ C =29.26 [ps/ch]
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50 100
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e pO 4258+ 0.0
p1 -36.73+ 0.00
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TVC(Cbch) (6, 13 4

= riuiz,00ye+u4 [ 25
= po 4217+ 0.0
pl -35.42+ 0.00

50 10'0
TP delay [ns]

TVC(eb,oh)=(6, 13,8

[ C =28.79 [ps/ch]

- z5ze 0 ] 25
e, po 4253+ 0.0
p1 -34.74+ 0.00

1
50 00

TP delay [ns]

TVC(c,b ch) (6, 13 12

~1nuizuyse+ud | 25
po 4264+ 0.0
pl -35.07 + 0.00
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e, po 4268+ 0.0
pL -36.74+ 0.00

TP delay [ns]

TVC(c,b Ch) (6, 13 5

“onun1yle+u4 /25
== po 4221+ 0.0
pl -35.86 + 0.00

50 150
TP delay [ns]

TVC(eb.oh)=(6, 13,9

T nuiLob/e+us / 25
= po 4286+ 0.0
p1 -35.19+ 0.00

TP delay [ns]

TVC(c,b ch) (6, 13 13

T inuiz.a4ze+u4 /25
- pO 4236+ 0.0
p1 -34.19+ 0.00

[ C =29.25[ps/ch]

PR R SR |
50 100

TP delay [ns]

TVC(c,b,ch)=(6, 13, 2)

4000

2000

1000

: xrmw 0022125
- po 4264+ 0.0
[ p1 -36.25 + 0.00

3000

TP delay [ns]

TVC(c,b ch) (6, 13 6

4000

3000

2000

1000

- 1nuzuBle+ud / 25
= pO 4225+ 0.0
[ pl -35.38+ 0.00

TP delay [ns]

TVC(e,b,ch)=(6, 13, 10

4000

3000

2000

1000

Ty ze+U5/25
- po 4265+ 0.0
- pl -33.82+ 0.00

- C = 29.56 [ps/ch] ™. 1

0

1
50 100

TP delay [ns]

TVC(c,b Ch) (6, 13 14

4000

3000

2000

1000

-1z pzle+ud [ 25
pD 4255+ 0.0
pl -34.76 + 0.00

F C = 28.77 [ps/ch]

PR R R S R |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (6,13,3)

X1 252e+U8 ] 25
po 4270+ 0.0
pL -36.31+ 0.00

1
100

TP delay [ns]

TVC(c,b Ch) (6, 13 7

-1 nuz.uuBe+u4 / 25
pO 4249+ 0.0
p1 -35.61+ 0.00

1(;0
TP delay [ns]

TVC(Cbch) (6, 13 11

T nui g43e+U5 / 25
pO 4287+ 0.0
pl -36.04 + 0.00

TP delay [ns]

TVC(cbch) (6, 13 15

Tonanz.4e+04 1 25
pO 4256+ 0.0
-35.21+ 0.00

1
100

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000 =,

3000

2000

1000

TVC(CbCh) (6, 14 0)

T Lure+ud /25
= pO 4256+ 0.0
p1 -35.77 + 0.00

TP delay [ns]

TVC(Cbch) (6, 14 4

=i (95e+u4 [ 25
=5 po 4257+ 0.0
pl -35.27 + 0.00

50 10'0
TP delay [ns]

TVC(cbch) (6, 14 8

- 1 sioe+ud [ 25
e pD 4233+ 0.0
pl -33.77+ 0.00

[ C =29.62 [ps/ch]

0

1
50 00

TP delay [ns]

TVC(c,b ch) (6, 14 12

- 1z yope+Us / 25
po 4259+ 0.0
pl -35.05+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000 [,

3000

2000

1000

4000

3000

2000

1000

TVC(chh) (6,14,1)

A nuiLydrerud | 25
e, po 4256+ 0.0
pL -35.44 £ 0.00

TP delay [ns]

TVC(c,b Ch) (6, 14 5

=1 nu.294e+04 [ 25
- pO 4265+ 0.0
p1 -36.42:+ 0.00

TP delay [ns]

TVC(c,b ch) (6, 14

T nug. 748e+U5 / 25
pO 4249+ 0.0
pl -33.89 + 0.00

TP delay [ns]

TVC(c,b ch) (6, 14 13

— T inuiL139e+U5 / 25
= pO 4246+ 0.0
p1 -35.74 + 0.00

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000 =
3000
2000

1000

4000 =,
3000
2000

1000

TVC(CbCh) (6,14,2)

X~ 1wz 101e+04 [ 25
-, po 4260+ 0.0
[ p1 -35.7+ 0.0

3000

TP delay [ns]

TVC(c,b ch) (6, 14 6

T 2.45e+04 /25
- pO 4278+ 0.0
- pl -36.59 + 0.00

TP delay [ns]

TVC(e,b,ch)=(6, 14, 10

1L 109e+U6 / 25
po 4252+ 0.0
p1 -33.78 % 0.00

TP delay [ns]

TVC(c,b Ch) (6, 14 14

Tz, 152e+05 / 25
pD 4266+ 0.0
pl -36.19+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (6,14,3)

AT 1 nuiz114e+04 [ 25
- po 4278+ 0.0
pl -35.44 + 0.00

TP delay [ns]

TVC(c,b Ch) (6, 14 7

= nui131e+05 / 25
= po 4292+ 0.0
p1 -36.76 + 0.00

50 160
TP delay [ns]

TVC(e.beh)=(6, 14, 11

T nuiLz19e+U6 / 25
pO 4259+ 0.0
p1 -34.52+ 0.00

TP delay [ns]

TVC(cbch) (6, 14 15

1 nuiz sbye+u5 / 25
po 4254+ 0.0
p1 -35.5+ 0.0

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(CbCh) (6, 15 0)

T rnuLy/1e+u4 /25
pO 4205+ 0.0
pl -35.93+ 0.00

TP delay [ns]

TVC(cbch) (6,154

=i, ro5e+04 [ 25
pO 42254 0.0
p1 -34.34 % 0.00

[ C=29.12 [ps/ch]™,_ ]
% o
TP delay [ns]
TVC(c,b, ch) (6, 15 8) -
-1 nuz.gube+u4 5
e, pO 4264:‘
pl -33.84+ 0.00

[ C =29.55 [ps/ch] ™.

0

50

1
100

TP delay [ns]

TVC(cbch) (6,15, 12

Tz, (49e+04 | 25
po 4344+ 0.0
pl -37.08 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(chh) (6,15,1)

x-S (e+Ud | 25
po 4205+ 0.0
pL -34.92:+ 0.00

1
100

TP delay [ns]

TVC(cbch) (6,155

[ C =29.50 [ps/ch] 7

- i bl3e+u4 / 25
4237+ 0.0
-33.89 % 0.00

50

1(;0
TP delay [ns]

TVC(c,b ch) (6, 15

[ C =29.09 [ps/ch]

~ 1 nuig.anye+ud 25
po 4282+ 0.0
p1 -34.37 + 0.00

50

1
100

TP delay [ns]

TVC(cbch) (6.15,13

T a3 rse+ud [ 25
pO 4337+ 0.0
pl -36.71+ 0.00

TP delay [ns]

4000

3000
2000

1000

4000
3000
2000

1000

4000

3000

2000

1000

4000
3000
2000

1000

0

TVC(CbCh) (6,15,2)

AT 1nuLsse+4 /25
po 4211+ 0.0
pl -35.12+ 0.00

TP delay [ns]

TVC(cbch) (6.15,6

“rnuig r81e+u4 [ 25
4249+ 0.0
-34.8+ 0.0

10‘0
TP delay [ns]

TVC(cbch) (6, 15 10

- C = 28.98 [ps/ch] ™.

T n1Ye+ud /25
po 4305+ 0.0
-34.51+ 0.00

50

1
100

TP delay [ns]

TVC(cbch) (6. 15, 14

~rnugbs4e+u4 [ 25
pD 4334+ 0.0
pl -36.14 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (6,15,3)

AT 1nun L sze+ud [ 25
po 4230+ 0.0
pl -35.91+ 0.00

1
100

TP delay [ns]

TVC(c, bch) (6,15, 7

[ C=29.67 [ps/ch] ».

-1 Uz ubbe+u4 / 25
4251+ 0.0
-33.7+ 0.0

50

1(;0
TP delay [ns]

TVC(cbch) (6, 15 1

[ C=29.52 [ps/ch] ™. ]

~ 1 nuy.ybae+ud / 25
po 4293+ 0.0
pl -33.87 + 0.00

_L
50

1
100

TP delay [ns]

TVC(cbch) (6,15, 15

Tinuz s 3e+ud [ 25
pO 4343+ 0.0
p1 -36.68 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7,0,0)

K™ 1rnuigs(re+U4 /25
4250+ 0.0
-36.41+ 0.00

1
50 100

TP delay [ns]

TVC(cbch) (70,4

[ C =29.19 [ps/ch]

- 1IuiZ,039e+U5 / 25
== po 4229+ 0.0
pl -34.26 + 0.00

50 10'0
TP delay [ns]

TVC(cbch) (7 0,8

~1nun.Us3e+Us / 25
- pO 4264+ 0.0
pl -35.49+ 0.00

TP delay [ns]

TVC(Cbch) (7, O 12

T g z1e+05 /25
= po 4294+ 0.0
pl -37.55+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7,01

x- 1 iz dove+ud | 25
- po 4251+ 0.0
pL -36.36+ 0.00

TP delay [ns]

TVC(c,b ch) (7 0,5

- 11U byse+us / 25
- pO 4247+ 0.0
p1 -34.95+ 0.00

TP delay [ns]

TVC(c,b ch) (7 0,9

-1 nuiL pyye+us / 25
= po 4267+ 0.0
p1 -36.13+ 0.00

TP delay [ns]

TVC(c,b Ch) (7, O 13

T nai rove+us / 25
- pO 4288+ 0.0
p1 -37.08 + 0.00

TP delay [ns]

4000
3000
2000

1000

4000

2000

1000

4000

2000

1000

4000

2000

1000

TVC(cbch) (7,0,2)

X~ 1 s, 7 3pe+U4 [ 25
po 4261 0.0
p1 -36.29+ 0.00

TP delay [ns]

TVC(cbch) (7.0,6

- C = 29.08 [ps/ch]

T,/ (4e+04 | 25
e pO 4239+ 0.0
| pl -34.39 + 0.00

3000

50 10'0
TP delay [ns]

TVC(eb,oh)=(7, 0, 10

~ 1 nuy, 1uze+U5 / 25
- po 4299+ 0.0
L pl -36.41+ 0.00

3000

TP delay [ns]

TVC(c,b Ch) (7, 0 14

T sze+u6 /25
= pD 4293+ 0.0
[ p1 -37.91+ 0.00

3000

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (70,3

A 11012, 843€+U6 | 25
e, po 4252+ 0.0
p1 -35.91% 0.00

TP delay [ns]

TVC(cbch) (7,07

[ C =28.69 [ps/ch]

-1 U B44e+U5 / 25
- pO 4264+ 0.0
p1 -34.85+ 0.00

50 160
TP delay [ns]

TVC(c,b ch) (7, O

T g, 4z4e+u6/25
= pO 4294+ 0.0
pl -35.86 + 0.00

TP delay [ns]

TVC(c,b ch) (7, O 15

T nup.04/e+U5/ 25
- pO 4299+ 0.0
p1 -37.14+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7,1,0)

po

pl

K™ 1 g zz0e+U5 / 25
4232+ 0.0
-35.55+ 0.00

TP delay [ns]

TVC(cbch) (7.1,4

-1 nuig,Buze+us / 25
4279+ 0.0
-35.87 + 0.00

e, pO
pl
- C =
1 1 -
50 100
TP delay [ns]
TVC(cbch) (7,1,8)
=1L BUse+U6 / 25
e, pO 4281+ 0.0
pl -35.31+ 0.00

TVC(Cbch) (7, l 12

TP delay [ns]

po
p1

T sze+u5 /25
4278+ 0.0
-35.09 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7.1,1)

e, po

AT 1 nuig Zsse+ud | 25
4247+ 0.0
-36.38 + 0.00

p1

1
100

TP delay [ns]

TVC(c,b ch) (7 1,5

- pO

-1 nui B31e+u4 / 25
4273+ 0.0
-35.33+ 0.00

TP delay [ns]

TVCEebeh)=(7, 1,9

1 nuis 1bbe+u6 / 25

4290+ 0.0
-34.39+ 0.00

[ C =29.08 [ps/ch]

50

1
100

TP delay [ns]

TVC(c,b Ch) (7, l 13

Tinuigs1e+u5/ 25
4276+ 0.0
-35.33+ 0.00

il
100

TP delay [ns]

4000

3000

2000

4000

3000
2000

1000

TVC(cbch) (7.1,2)

1000

= P°

T Lase+u6 /25
4249+ 0.0
p1 -36.46 + 0.00

TP delay

TVC(cbch) (7.1,6

~ o

[ns]

©1nug,1b4e+04 / 25
4287+ 0.0
-35.6+ 0.0

TP delay

TVC(ebeh)=(7, 1, 10

[ns]

Tz, 20e+u6/25

4000 _- pO 4294+ 0.0

[ p1 -33.16 + 0.00
3000 L 7]
2000 -— _-
00" C = 30.16 [ps/ch] ™. 7

d 5(') 10'0

TP delay [ns]

4000

3000
2000

1000

TVC(c,b Ch) (7, 1 14

T nun.gl1e+u5 / 25
4281+ 0.0
pl -35.69+ 0.00

TP delay

[ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(c,b ch) (7,1,

A

po
pL

3)

nur 1.3ve+u5/ 25
4278+ 0.0
-36.12+ 0.00

1
100

TP delay [ns]

TVC(c,b ch) (7 1,7

-

- pO
p1

nur zoge+us / 25
4294+ 0.0
-35.81+ 0.00

1
100

TP delay [ns]

TVC(c,b ch) (7,1,

pO
pl

1)
Tonanz.4/e+06 /25
4306 £ 0.0
-34.49 + 0.00

[ C =29.00 [ps/ch] ™,

1
100

50
TP delay [ns]
TVC(c,b ch) (7,1,15

X1

nuZ,ubbe+u6 / 25
4281+ 0.0
-35.19+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (7,2,0)

A~ 1 nu asae+04 | 25
po 4263+ 0.0
p1 -36.12:+ 0.00

TP delay [ns]

TVC(cbch) (72,4

- 1nug,u35e+U5 / 25
4241+ 0.0
-35.2+ 0.0

50 10'0
TP delay [ns]

TVC(ebeh)=(7,2,8

-7, 114e+06 1 25
pD 4291% 0.0
pl -37.29+ 0.00

TP delay [ns]

TVC(cbch) (7,212

Tz su1e+Us / 25
po 4266+ 0.0
p1 -35.9+ 0.0

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7,2,1)

x- 163 (e+U4 | 25
po 4247 + 0.0
pL -36.07+ 0.00

TP delay [ns]

TVC(c,b ch) (7 2,5

-1, 43ae+U6 / 25
pO 4262+ 0.0
p1 -35.94 + 0.00

50 150
TP delay [ns]

TVCebeh)=(7,2,9

<1 nuiL pzae+U6 / 25
pO 4285+ 0.0
pl -35.33+ 0.00

TP delay [ns]

TVC(c,b Ch) (7, 2 13

T inunb31e+U5 /25
pO 4264+ 0.0
p1 -35.64 + 0.00

TP delay [ns]

4000

2000

4000

2000

1000

4000

2000

4000
3000
2000

1000

TVC(cbch) (7,2,2)

1000

A~ 1 s, oove+U5 / 25
- po 4256+ 0.0
L pl -36.43+ 0.00

3000

TP delay [ns]

TVC(cbch) (7,26

- C = 29.01 [ps/ch]

“ a1 56e+06 / 25
e pO 4242+ 0.0
[ p1 -34.47 + 0.00

3000

50 10'0
TP delay [ns]

TVC(c,b, ch) (7, 2 10

1000

1 nuiLyuse+U6 / 25
= po 4297+ 0.0
o pl -36.51+ 0.00

3000

TP delay [ns]

TVC(cbch) (7,214

- 1 nuiz.4use+U5 / 25
pD 4275+ 0.0
pl -35.34+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (72,3

A~ 1 nuiz,120e+U5 / 25
- po 4269+ 0.0
p1 -35.97 + 0.00

TP delay [ns]

TVC(c,b ch) (7 2,7

Ui 521e+06 / 25
= po 4265+ 0.0
p1 -35.91+ 0.00

TP delay [ns]

TVC(c,b ch) (7,2,

AL ssue+u6/25
= po 4303+ 0.0
p1 -37.26 + 0.00

TP delay [ns]

TVC(c,b ch) (7, 2 15

T nui goze+U6 / 25
= po 4278+ 0.0
p1 -35.46 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7,3,0)

po

pl

A~ 1 SoBe+U6 / 25
4241+ 0.0
-35.94 + 0.00

TP delay [ns]

TVC(cbch) (7.3,4

=/ nug,

pO
pL

184e+U5 / 25
4233+ 0.0
-35.52+ 0.00

TP delay [ns]

TVC(cbch) (7 3,8

T nuy,130e+U4 / 25
4250+ 0.0
-36.09 + 0.00

TP delay [ns]

TVC(cbch) (7,312

po
p1

© i zzye+U5 / 25
4268+ 0.0
-36.27 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7.3,1)

e, po

A~ 1 nuiL4yve+U6 / 25
4253+ 0.0
-37.07 + 0.00

p1

TP delay [ns]

TVC(c,b ch) (7 3,5

-1 1ug.431e+05 / 25
4244+ 0.0
-36.2+ 0.0

1
50 100

TP delay [ns]

TVC(c,b ch) (7 3,9

== pO

pl

T nuig312e+U5 / 25
4265+ 0.0
-36.54 + 0.00

TP delay [ns]

TVC(c,b Ch) (7, 3 13

== pO

1 nuiz bboe+u5 / 25
4259+ 0.0
-36.08 + 0.00

TP delay [ns]

4000

3000
2000

1000

4000

3000

2000

1000

4000

3000

2000

4000

3000
2000

1000

TVC(cbch) (7,3,2)

= PO

pl

X~ 1 s Ozze+U4 [ 25
4258+ 0.0
-36.21+ 0.00

TP delay [ns]

TVC(cbch) (73,6

= PO

p1

- 11Uy Boye+U5 / 25
4248+ 0.0
-35.75+ 0.00

TP delay [ns]

TVC(eb,oh)=(7, 3, 10

1000

0

= 90

T nuiLyr3e+U6 / 25
4280+ 0.0
-36.81+ 0.00

pl

TP delay [ns]

TVC(cbch) (7.3 14

pD
pl

-1 nuizpose+Us / 25
4263+ 0.0
-35.87 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(c,b ch) (7,3,
= 0
pl

3

1ug,045e+U5 / 25
4258+ 0.0
-36.35+ 0.00

TVC(c,b ch) (7 3,7

-

1
100

TP delay [ns]

nug.Yy3e+us / 25
4251+ 0.0
-35.31+ 0.00

= pO
pL
- C =
1 1 -
50 100
TP delay [ns]

TVC(c,b ch) (7, 3

= pO

Ty, 44::e+u5/25
4286+ 0.0
-36.47 + 0.00

pl

TP delay [ns]

TVC(c,b ch) (7,3,

X1

15

num, ( 12e+U5 / 25
4274+ 0.0
-35.77+ 0.00

1
100

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7.4,0)

T f1ye+U5/25
4245+ 0.0
-35.8+ 0.0

1
50 100

TP delay [ns]

TVC(cbch) (7 4,4

- 11ug,045e+05 / 25
- pO 4267+ 0.0
pl -35.62:+ 0.00

50 10‘0
TP delay [ns]

TVC(eb,ch)=(7, 4,8

[ C =28.74 [ps/ch]

Ty pale+ud | 25
= po 4267+ 0.0
p1 -34.8+ 0.0

1
50 100

TP delay [ns]

TVC(cbch) (7,4,12

T L $73e+U6 / 25
= po 4266+ 0.0
pl -35.87 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7.4,1

AT 11U Usoe+Us /25
- po 4239+ 0.0
pl -35.11+ 0.00

TP delay [ns]

TVC(c,b ch) (7 4,5

“nui /4/e+06 / 25
- pO 4269+ 0.0
pL -35.29+ 0.00

TP delay [ns]

TVC(c,b ch) (7, 4

I C =28.76 [ps/ch]

~ 1 nuiL by3e+u6 / 25
= pO 4276+ 0.0
p1 -34.77+ 0.00

1
50 100

TP delay [ns]

TVC(C, bch) (7.4,13

T nup.418e+U5 / 25
- pO 4274+ 0.0
pl -35.26 + 0.00

TP delay [ns]

TVC(cbch) (7.4,2)

4000

2000

1000

Tnunzy4e+U5 /25
=, po 4248+ 0.0
L pl -35.82+ 0.00

3000

TP delay [ns]

TVC(cbch) (7.4,6

4000

3000

2000

1000

T rnug 712e+04 [ 25
- pO 4282+ 0.0
[ pl -36.61+ 0.00

TP delay [ns]

TVC(ebeh)=(7, 4,10

4000

3000

2000

1000

- C = 28.98 [ps/ch]

1 nuiL2y3e+U6 / 25
- 4290+ 0.0
L -34.51+ 0.00

0

1
50 100

TP delay [ns]

TVC(cbch) (7.4,14

4000

2000

1000

T 1L zz9e+U6 / 25
= pD 4263+ 0.0
L p1 -35.64+ 0.00

3000

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7,43

T .U ze+ud [ 25
- pO 4252+ 0.0
pl -35.51+ 0.00

TP delay [ns]

TVC(c,b ch) (7 4,7

-1 nug Z31e+U6 / 25
- pO 4289+ 0.0
pL -36.72:+ 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (7, 4

[ C =28.68 [ps/ch]

1)
1 nug.19Ye+U6 / 25
= po 4292+ 0.0
p1 -34.87 + 0.00

1
50 100

TP delay [ns]

TVC(C, bch) (7.4,15

T nuiz.0z3e+U6 / 25
= pO 4285+ 0.0
p1 -36.78 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7,5,0

T g, s10e+u4 / 25
= pO 4242+ 0.0
p1 349+ 0.0

TP delay [ns]

TVC(cbch) (7,54

[ C =29.03 [ps/ch]

T 1ub.473e+U5 / 25
= pO 4243 0.0
p1 -34.45+ 0.00

50 10'0
TP delay [ns]

TVC(cbch) (7 5,8

-, 9zse+04 [ 25
e, po 4263+ 0.0
p1 -36.35+ 0.00

TP delay [ns]

TVC(cbch) (7,5,12

~ i 1gve+Us / 25
= po 4292+ 0.0
pl -36.38+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7,51

A~ 1 nuiLusZe+Us / 25
= po 4249+ 0.0
p1 -35.16 + 0.00

TP delay [ns]

TVC(c,b ch) (7 55

= 1 nug Quze+us / 25
== po 4265+ 0.0
pl -35.43+ 0.00

TP delay [ns]

TVC(c,b ch) (7 59

Tinue.Y//e+u5 /25
= po 4272+ 0.0
pl -36.63 + 0.00

TP delay [ns]

TVC(c,b Ch) (7, 5 13

T nuzbuse+us / 25
pO 4294+ 0.0
p1 -36.56 + 0.00

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

4000

3000
2000

1000

TVC(cbch) (7,5,2)

A1, rzve+U5 /25
F-. po 4268+ 0.0
[ p1 -35.73 0.00

3000

TP delay [ns]

TVC(cbch) (7,56

- 11Uy, 0yBe+u4 / 25
fo, pO 4260+ 0.0
[ pl -34.89 0.00

TP delay [ns]

TVC(eb,oh)=(7, 5, 10

T nuy.ur3e+Us / 25
- po 4285+ 0.0
N p1 -36.25+ 0.00

TP delay [ns]

TVC(cbch) (7,5,14

pD
pl

T 1nuiLp3se+U6 / 25
4297+ 0.0
-36.95+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7,5,3

A1, yope+Us / 25
- po 4273+ 0.0
p1 -35.49 + 0.00

TP delay [ns]

TVC(c,b ch) (7 57

= nu 323406 / 25
= po 4272+ 0.0
p1 -35.26 + 0.00

TP delay [ns]

TVC(c,b ch) (7, 5

RIS zu::e+u6/25
= po 4286+ 0.0
pl -35.98+ 0.00

TP delay [ns]

TVC(c,b ch) (7, 5 15

T num.y43e+U5 / 25
po 4278+ 0.0
p1 -35.76 + 0.00

TP delay [ns]



TVC(cbch) (7,6,0

4000

3000

2000

1000

X~ g 552e+U5 / 25
e, po 4284+ 0.0
p1 -36.58 + 0.00

TP delay [ns]

TVC(cbch) (7.6,4

4000

3000

2000

1000

U8 1e+u4 [ 25
=5 po 4262+ 0.0
-35.3+ 0.0

50 10'0
TP delay [ns]

TVC(cbch) (7 6,8

4000

3000

2000

1000

1 nug.uzve+Us / 25
pO 4241+ 0.0
pl -33.95+ 0.00

[ C =29.46 [ps/ch]

0

1
50 00

TP delay [ns]

TVC(Cbch) (7, 6 12

4000

3000

2000

1000

T g8 oe+U6 / 25
= po 4252+ 0.0
pl -32.44+ 0.00

[ C=230.83 [ps/ch] - ]

1 "
= 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7.6,1

AT 1 nu514e+U5 / 25
e, po 4286+ 0.0
p1 -36.28 + 0.00

TP delay [ns]

TVC(c,b ch) (7 6,5

S nunp21e+04 /25
== po 4280+ 0.0
pl -35.69 + 0.00

TP delay [ns]

TVC(c,b ch) (7 6,9

T nug.n4/e+U5/ 25
= pO 4270+ 0.0
p1 -34.94 + 0.00

[ C =28.62 [ps/ch]

1
50 00

TP delay [ns]

TVC(c,b Ch) (7, 6 13

T nuiLay3e+u6 / 25
pO 4289+ 0.0
pl -35.28 + 0.00

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

4000

3000
2000

1000

TVC(cbch) (7,6,2)

A~ 11 bove+U5 / 25
. po 4280+ 0.0
[ Pl -35.83: 0.00

3000

TP delay [ns]

TVC(cbch) (76,6

-1, 9yye+ud / 25
- pO 4294+ 0.0
[ pl -36.11+ 0.00

TP delay [ns]

TVC(eb,oh)=(7, 6, 10

1 nuiL398e+U6 / 25
- po 4292+ 0.0
N p1 -35.55+ 0.00

TP delay [ns]

TVC(cbch) (7.6,14

~1nuiLzu4e+06 / 25
= pD 4303+ 0.0
L pl -36.37 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7.6,3

A7 1 nun,pave+Us / 25
- po 4297+ 0.0
p1 -36.37 + 0.00

TP delay [ns]

TVC(c,b ch) (7 6,7

= 1 U guve+u6 / 25
[=s, po 4308+ 0.0
pl -36.43+ 0.00

TP delay [ns]

TVC(c,b ch) (7, 6

SRRV b':ue+l]6/25
=, 4279+ 0.0
-34.65+ 0.00

I C =28.86 [ps/ch] ]

1
50 00

TP delay [ns]

TVC(c,b ch) (7, 6 15

T 1nuiz 033e+U5 / 25
e pO 4292+ 0.0
p1 -35.43+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7,7,0

A1 nuzuyre+Us /25
- po 4261+ 0.0
p1 -34.7+ 0.0

[ C =28.82[ps/ch]

1
50 100

TP delay [ns]

TVC(cbch) (77,4

- U 321e+U5 / 25
=5 po 4258+ 0.0
pl -34.78 + 0.00

[ C =28.75 [ps/ch]

50 10'0
TP delay [ns]

TVC(ebeh)=(7,7,8

a2 ysoe+Us / 25
4272+ 0.0
-35.2+ 0.0

TP delay [ns]

TVC(cbch) (7,7,12

1 nuizpyve+us / 25
4278+ 0.0
-37.3+ 0.0

-
TR

50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7,7.1

A~ 1 nuiLyyle+us /25
- po 4275+ 0.0
p1 -35.31# 0.00

TP delay [ns]

TVC(c,b ch) (7 7,5

=1 nui 49ye+U5 / 25
- pO 4270+ 0.0
-35.5+ 0.0

50 150
TP delay [ns]

TVCEebeh)=(7,7, 9

~ 1 nug.u4ze+u5 [ 25
= po 4282+ 0.0
p1 -35.82 + 0.00

TP delay [ns]

TVC(c,b Ch) (7, 7 13

TinaiL10/e+U6 / 25
= pO 4278+ 0.0
p1 -37.53+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

4000

3000
2000

1000

TVC(cbch) (7,7,2)

- C = 28.59 [ps/ch]

1
50 100

TP delay [ns]

TVC(cbch) (7.7,6

- nuz, r98e+U5 / 25
- pO 4289+ 0.0
[ p1 -36.12+ 0.00

K™ 1nun4r1e+04 /25
- po 4273+ 0.0
[ p1 -34.98+ 0.00

TP delay [ns]

TVC(ebeh)=(7, 7, 10

1000

Tl 141e+06 / 25
- po 4286+ 0.0
N p1 -36.06 + 0.00

TP delay [ns]

TVC(c,b Ch) (7, 7 14

T zyre+u5/25
- pD 4274+ 0.0
L p1 -36.63+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7.7,3)

AT 1 nui,(11e+04 / 25
- po 4279+ 0.0
p1 -35.24+ 0.00

TP delay [ns]

TVC(c,b ch) (7 7,7

= 1nur 1b4e+U5 / 25
= po 4290+ 0.0
p1 -35.73+ 0.00

TP delay [ns]

TVC(c,b ch) (7,7,

1)
T nu.2y/e+U6 / 25
- pO 4295+ 0.0
p1 -35.75+ 0.00

TP delay [ns]

TVC(c,b ch) (7, 7 15

T nuiz ssze+U5 [ 25
4275+ 0.0
-37.01+ 0.00

PR R SRR |
50 100

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7,8,0)

A1y, 180e+U5 / 25
4219+ 0.0
-35.89 0.00

TP delay [ns]

TVC(cbch) (7,84

- rugbb1e+ud [ 25
4235+ 0.0
-35.56 + 0.00

- pO
p1
FC N
1 1 -
50 100
TP delay [ns]
TVC(cbch) (7,88)
1z, 1p4e+U5 / 25
= pD 4251+ 0.0
pl -35.06 + 0.00

TP delay [ns]

TVC(Cbch) (7,8,12

A1,

b po
p1

1uze+U5 /25
4266+ 0.0
-37.21+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7.8,1)

e, po

A” 1 nuiy Zobe+ud | 25
4232+ 0.0
-35.44 % 0.00

p1

TP delay [ns]

TVC(c,b ch) (7 8,5

“nubrle+ud [ 25
4244+ 0.0
-35.93+ 0.00

TP delay [ns]

TVC(c,b ch) (7 8,9

pO
pl

<1 nub.Yyuse+ue / 25
4271+ 0.0
-35.62 + 0.00

TP delay [ns]

TVC(c,b Ch) (7, 8 13

Tinugzzie+ud [ 25
4274+ 0.0
-37.99+ 0.00

TP delay [ns]

4000

3000
2000

1000

4000

3000

2000

1000

TVC(cbch) (7,8,2)

b, po

A~ 1w sUBe+US / 25
4233+ 0.0
p1 -35.27+ 0.00

TP delay

TVC(cbch) (7,86

X~ rnan 1

= po
p1

[ns]

1e+u5/25
4249+ 0.0
-36+ 0.0

TP delay

TVC(eb,oh)=(7, 8, 10

[ns]

1000 E T, l)ae-*UG/ZS
- pO 4249+ 0.0
[ pl -33.41x 0.00
a000 ]
2000 L .
w000 C = 29.93 [pS/Ch] -
[ | ]
¢ 50 100
TP delay [ns]

4000

3000
2000

1000

TVC(cbch) (7,814

= PD

~1nun.434e+05 / 25
4285+ 0.0
pl -38.17 + 0.00

50 100

TP delay

[ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7.8,3)

e, po

pl

A 11y 41ae+U5 ] 25
4231+ 0.0
-34.71% 0.00

TVC(c,b ch) (7 8,7

- pO
p1

1
100

TP delay [ns]

-1 nu b24e+06 / 25
4261+ 0.0
-36.41+ 0.00

1
100

TP delay [ns]

TVC(c,b ch) (7, 8

ARV ba::e+u6/25
4253+ 0.0
-34.83+ 0.00

[ C=28.71 [ps/ch]

50

1
100

TP delay [ns]

TVC(c,b ch) (7, 8 15

1 nug sbye+U6 / 25
4284+ 0.0
-37.68 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7,9,0)

T pu/e+u6/ 25
pO 4239+ 0.0
p1 -38.87 + 0.00

TP delay [ns]
TVC(cbch) (7 9,4)
“ iy Zzoe+U5 [ 25
==, pO 42431 0.0
Pl -3681::‘
e -
1 L -'
50 100
TP delay [ns]
TVC(cbch) (7 9,8)
- 1L uaze+u5 / 25
= pO 4244+ 0.0
-34.58 :Z‘
[ C=28.92 [ps/ch]™_ ]
) L
50 100
TP delay [ns]
TVC(c,b ch) (7, 9 12

T rnuiLy1oe+U6 / 25
po 4255+ 0.0
pl -34.88 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7,9,1)

A~ 1 nuiLboe+Us / 25
po 4235+ 0.0
p1 -36.72+ 0.00

TP delay [ns]

TVC(c,b ch) (7 9,5

- 1nug.Z2/4e+04 [ 25
pO 4251+ 0.0
p1 -36.38+ 0.00

TP delay [ns]

TVC(c,b ch) (7 9,9

T nu. Zb3e+us / 25
po 4276+ 0.0
pl -35.33+ 0.00

TP delay [ns]

TVC(c,b Ch) (7, 9 13

T nugsu1e+U5 / 25
pO 4256+ 0.0
p1 -36.06 + 0.00

TP delay [ns]

4000

2000

1000

4000

2000

1000

4000
3000
2000

1000

4000

2000

1000

TVC(cbch) (7.9,2)

T z4ve+ud /25
- pO 4251+ 0.0
L pl -37.32+ 0.00

3000

TP delay [ns]

TVC(cbch) (79,6

T 3.98e+u4 / 25
e pO 4254+ 0.0
- pl -36.58 + 0.00

3000

TP delay [ns]

TVC(eb,oh)=(7, 9, 10

1 nuig.y44e+U5 / 25
4266+ 0.0
-35.2+ 0.0

TP delay [ns]

TVC(cbch) (7,9,14

Trnuig1r1e+U6 / 25
- pD 4255+ 0.0
L p1 -35.61% 0.00

3000

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (79,3

X1 L d1ae+U5 | 25
== po 4244+ 0.0
p1 -37.22:+ 0.00

TP delay [ns]

TVC(c,b ch) (7 9,7

= 1 nu Oz8e+U6 / 25
= po 4258+ 0.0
p1 -36.69 + 0.00

TP delay [ns]

TVC(c,b ch) (7, 9

T Ub‘Je+U6/25
= po 4279+ 0.0
p1 -35.48 + 0.00

TP delay [ns]

TVC(c,b ch) (7, 9 15

1 nuiL yoze+u6 / 25
pO 4289+ 0.0
p1 -37.68+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(CbCh) (7, 10 0)

©1un.04/e+04 [ 25
— pO 4208+ 0.0
pl -35.29+ 0.00

TP delay [ns]

TVC(cbch) (7.10,4

- g, r9ze+u5 / 25
- pO 4260+ 0.0
pl -36.35:+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (7, 10 8

1 nuig.yose+Us / 25
= po 4268+ 0.0
pl -36.39+ 0.00

TP delay [ns]

TVC(cbch) (7.10,12

~1ug.54ze+05 / 25
= po 4281+ 0.0
pl -35.92+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(chh) (7,10,1)

AT 1nunz13e+U5/ 25
- po 4216+ 0.0
pl -35.29+ 0.00

TP delay [ns]

TVC(c, bch) (7.10,5

“rnublze+ud [ 25
- pO 4251+ 0.0
pL -35.77+ 0.00

TP delay [ns]

TVC(ebeh)=(7, 10,9

T a7 7ze+U5/ 25
- pO 4274+ 0.0
p1 -36.01+ 0.00

TP delay [ns]

TVC(cbch) (7.10,13

T inug 1zze+U5/ 25
= pO 4280+ 0.0
p1 -36.4+ 0.0

TP delay [ns]

4000

3000
2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

4000

3000
2000

1000

TVC(CbCh) (7, 10 2)

T Ly roe+ud [ 25
— pO 4217+ 0.0
L pl -34.96 + 0.00

TP delay [ns]

TVC(cbch) (7.10,6

T b/1e+U5 / 25
- pO 4283+ 0.0
[ pl -36.28+ 0.00

TP delay [ns]

TVC(cbch) (7, 10 10

T 1nuiL381e+U6 / 25
= po 4293+ 0.0
- pl -36.31+ 0.00

TP delay [ns]

TVC(cbch) (7.10,14

~ 1z po3e+Us / 25
- pD 4270+ 0.0
L -35.8 + 0.0

PR IR SRR |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (7, 10 3)

“nun ooe+us/ 25
poes, pO 4238+ 0.0
pl -35.34+ 0.00

TP delay [ns]

TVC(c, bch) (7.10,7

-1 nui uzye+us / 25
- pO 4283+ 0.0
pL -36.66+ 0.00

50 1(;0
TP delay [ns]

TVC(ehch)=(7, 10, 11

<1 nuw.zbge+u5 / 25
= po 4279+ 0.0
pl -35.91+ 0.00

TP delay [ns]

TVC(cbch) (7,10,15

T inuzb1ze+U6 / 25
= pO 4280+ 0.0
p1 -36.42 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(CbCh) (7,11,0)

X~ 1w 1obe+U5 / 25
Foo-. po 4262+ 0.0
p1 -37.46 + 0.00

TP delay [ns]

TVC(cbch) (7, 11 4

- 1. a37e+05 [ 25
- pO 4251% 0.0
348+ 0.0

TP delay [ns]

TVC(ebeh)=(7, 11,8

T i, rzze+05 / 25
- pO 4264+ 0.0
pl -35.06 + 0.00

TP delay [ns]

TVC(c,b Ch) (7,11,12

X~ 11 bo1e+Us5 /25
= PO 4283+ 0.0
pl -35.82+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(CbCh) (7,11,1)

A~ 1 nuiLaype+US / 25
Foee. po 4254+ 0.0
p1 -37.07 + 0.00

TP delay [ns]

TVC(c,b Ch) (7, 11 5

-1 nui.adoe+US5 | 25
- pO 4275 0.0
p1 -34.81% 0.00

[ C =28.73 [ps/ch]

50 105
TP delay [ns]

TVC(cbch) (7,11,9

T nai s11e+u6 / 25
==, 4282+ 0.0
-35.08 + 0.00

[ C =28.51 [ps/ch] ]

1
50 00

TP delay [ns]

TVC(c,b ch) (7, 11 13)

</ iur 1 obe+us / 25
= po 4275+ 0.0
pl -35.75+ 0.00

TP delay [ns]
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